p(‘ A student suspected a given sample of water contains sulphate ions. Describe how he
\n Ahe

can show the presence of the sulphate ions water sample. (2mks)
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5. Inthe industrial manufacture of nitric (v) acid the first step is catalytic oxidation of
ammonia gas.

(a) What is the name of the catalyst used. (1mk)
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(b) Write the equation for the catalytic oxidation of ammonia gas. (1mk)
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¢) State one use nitric acid. (1mk)
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6. Explain why boiling point of ethanol is higher than that of dimethylether. (Relative

molecular mass of both of them is 46). (2mks)
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7. When 94.5g of hydrated barium hydroxide Ba(OH),.n H20 were heated to a constant
mass, 51.3g of anhydrous barium hydroxide were obtained. Determine the value of n.

(Ba=137, 0=16,H=1) (3mks)
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